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—. BRHBE (365, FALIL)

1. % A. B HEEFEANEMH, HAcB, P(A)>0, NTH#HIL
RSy 2
A. P(A)<P(A|B) B. P(A)<P(A|B)

C. P(A)> P(A|B) D. P(A)>P(A|B)
2. XX, YAMNEE, E=X+Y, n=X-Y, WS THXMN

fa b ELAHE

A. EX=EY B. DX =DY

C. E(X»)=E{¥?) D. E(X*)+(EX)* =E(Y?)+(EY)?
3. WX~ NQ1,1), BMREEEA p(x), N

A. P(X<0)=P(X20)=0.5 B. p(-x)= p(x),x & (—00,+o)

C. P(X<)=P(X21)=0.5 D. F(x)=1-F(—x),x €(—00,+®)
b AR nNTHTE, U AHKEFBERE A*NTH K| 4%=

Al B. — C. |A" D. |A"!
||

5. RBE fOEx=0ENFBRNTHK, H FO)=0,

lim M =-3, M
x—>0 SIn X
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A fO) =R f(x)H—MEKAAME;
B. f(0) =& f(x) By —AMR/ME;
C. f(x)7E x = 0By 54K 9838 A
D. f(x)7 x =08 EAN4FH N LR

x2 +x

2, x=x*l1

A fOERx=1Q#EL, 7£Ex=-14[H;
B. f(x)TER x=14C1E0T, &8 x=-14FE4;
C. f(xX)TEE x==+1 A& 4,
D. f(x)7E & x==1 &6 BF;

1. EWM&y=x+ax+bf2y=xy’ —1EEQ-DAEW, EdabH
¥, WTXERANE
A. a=1,b=-3 B.a=0,b=-2 C. a=-1,b=-1D. a=-3,b=1

8. B 4n ﬁm(’”") =4, Me=

X0\ X —C
A. In2 B.2 C.e D. ¢?
9. ¥ x>0H, FH#sinx5 cosxE
A EMEFN B. HRMAEF D C. BHWEF /N D. Bikth#k
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1. % A. B YA LW EHE, P(AUB)=06, P(A4)=04, N

P(B) =

). REALEE X ~ B2, p), MALEEY ~ BG,p)» %p(xzn:g,

M P(Y >1)=
1 2 3 2
3 -1 2 1
3. 4T A = =
ﬁﬁlimz L4 0
0O 2 1 3

2x1 +2x2 +X3 =].
4, FAEH3x +4x, +3x; =1 (x),x,,%3) =
x; +2x, +3x; =1

sin x

5. lim&— 1=
x—0 tan3x
2 < 3
6. i)%f(x)={1fxx FED [ f -2y
e, x>0 1

=, WEE (X245, EESL)
1. KEEH o =(1,-1,2,0,3)7, a,=(2,1,-1,2,1)7,

a;=(3,3,-4,4,-D)7, a,=(2,0,1,-1,3) Bk fR KA LKL,
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FE. IAEEVASEZIAL, FEEHERMEK L, TN
2. RSO FTRY =(x+y+1)* HEM.

l-lnx

), Kdy.

W, A (3640, BE12H)
1. HHEAFR20/N—4, FFH0, 1, 2HRBNBELH KX 0.8, 0.1,
0.1. EBENFER4A, LKL, WETZHA.
F: (1) ET 48 0BE;
(2) ETH—4H% LR EAETE.

). FIERE A= @ 2)%%4Mﬁ$ﬂﬁﬁﬁ%

3. &y =sin?(

3. XANEHSOBLNEREMA, YEENEMEENE A 180 TH,
NETAHAY. B AMLEE 10 T, AEHEERRRD
1; FHEERHBGNE, MEAFHAFLE 20 THATEY. K-
BRENE D U AATRERAKRE? RAKEHN S D T2

. OEWE (K304, #H15L)

. & f(x)FE[0,a] LEE, £0,a) AT R, B f(@)=0. EN: HE
—mée(0,0), B L(E)+ES(£)=0.

2. % f(x)E[a,b] LEL, E@b)NAE-_NSH, LH: FE—A

a+b (b-a)” a)

ce(a,b), € f(b)- 2/ + e =

—f'©.



